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goo

Q=22667T0000
P = 510510n + 22667

2P + 1 =2(510510n + 22667) + 1 = 10210201 + 45334 + 1 = 1021020n + 45335

0000010210200 20 2003,5,7,11,13,17000000 10000000

45335 = 5 x 9067 x 1

oooo
2P + 1 = 5(204204n + 9067)
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Q=226690000
P = 5105101 4 22669

2P + 1 = 2(510510n + 22669) + 1 = 1021020n + 45338 + 1 = 10210200 + 45339
0000010210200 20 2003,5,7,11,13,17000000 10000000

45339 =3 x 7Tx 17x 127 x 1

0ooo
2P + 1 = 357(2860n + 127)

O00ob00obOooO3roooooooooooobooboooooO0oobObobOobOoDOoDOobDOo
good

Q=226790000
P = 5105101 + 22679

2P 4+ 1 = 2(510510n + 22679) + 1 = 10210201 + 45358 + 1 = 10210201 + 45359
0000010210200 20 2003,5,7,11,13,17000000 1000000

45359 = 67 x 677 x 1

Ooooo0 10210200 000000000000

2P 41 =510510m + 45359

gbbogbogoboobbuoobboobboooobuoonbagn

Q=1226810000
P = 510510n + 22681

2P + 1 =2(510510n + 22681) + 1 = 1021020n + 45362 + 1 = 1021020n + 45363

0000010210200 20 2003,5,7,11,13,17000000 10000000

45363 = 3 x 15121 x 1

oooo
2P + 1 = 3(340340n + 15121)

o00b0o0O0030000000000b00DOD0OD0oO0bO0obOO0oDODOobODO0oOOoOoDbOoDbDOoDOn
goo

Q=226910000
P = 5105100 + 22691

2P 4+ 1 =2(510510n + 22691) 4+ 1 = 1021020n + 45382 4+ 1 = 1021020n + 45383
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45383 =13 x 3491 x 1

ogooo
2P + 1 = 13(78540n + 3491)

o0boobOooboooooooooobobooobooobooboobUoboooobOoobOoo
googd
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